BT AR EEPIVEE BE AN T R E S HENRE
BT 1 B SP WEE T L T 4
¥ H B H
BATHR | SMTFEAAH26H 0L S THEI2A12HET
[ atanm] A
AREHIT, WEEIZ BV TIRERE S WS OB O il
WZOWT, YEFEORMICAEFEZITI O TH D,
H o %5
EE —WXEE 1 5 9 B PIVEIE KA
[FEHNE]

MAEB R ERIERO LBV

ESIS S S N |l 7O AT [




THR /LHE, FE5 HAAL HE & K Mmoo Bl M R
AN 7 A EPIVEE BN R ESED
R A 2 2V 1 21, 450, 000
EH R = 1 13,943, 255
[EREEXi = 1 9, 330, 056
BEE:AMGE = 1 8, 566, 758
FH H R A 2
A = 1 289, 970
TEZFHEE D
E37 1 e+ VERL
FEH A I
[} 1 e R R T2
e LN
[} 1 e PRAT R T
HE B SR = 1 223, 072

b bt )5 B fig )=




Z# KW R £
THR /LHE, FE5 HAAL % & #E Mmoo Bl M R
HEREE S
HERETE FEE e 72N
HREEY = 8,053, 716
RiEEY D 70l |k
i HEROEE 130 i A1
(FHE)
A& D
4 HEROEE 70 1 A i
(FHRE)
FEREEY D 20011 AV
# HEROEE &K 53N
(FHRE)
FEREEY D 200t LA b
# HEROEE 400 nd AT
(FHRE) H&X 5 A
FEREEY D 400t LA b
i FEROHEE 600 nd AT
(FHE) H&X 453 A
FER &R D 400t LA b
i FEROHEE 600 nd AT
(FHEE) FHIEIX 55N
FER &GRS D 600t 2L |
i FEROHEE 1, 000 ot A<
(FHEE) FHIEIX 55N
FER &GRS D 20011 A
T HEROETE H&X A
(FFHE)

b bt )5 B fig )=




THR /LHE, FE5 BAfT & & #E Hm Gl M R
T X 7 O 200m Ll -
HREEY FERT 1 HEROVOEE B 400 nf AT
(FHE)
A A D 200nt LA E
FET 1 HEROVOEE C 400 nd AT
(FHRE)
TSR D
= 1 R R
(FHE)
FEI R I D
= 14 g FA A AR I
(FHRE)
M TIEwO e dEu
Il 3 HEROCEE A
(FHRE)
M TIEwO e
Il 2 HEROCEE C
(FHRE)
Bt AR O
AT 29 REROCEE  THZOHEM  500m A
(FHE)
It TAEW D 500nt L 1
& 1 RELOEE  LTHFEOHM 1, 000m FiH
(FHEE)
bt TAES D 1, 000m 2L |
T 2 REXLOEE  THSOHM 2,000 FiH
(FHEE)
bt TAES) D 2,000t 2L |
& 1 WEROCEE  THSOEM 4, 0000t A
(FFHE)

b bt )5 B fig )=




WA /T FE5 HAL /e & Mmeoom W

g_llnll

M LIRS O
HREED & A 16 AR OREE S TR
(FHEIE)

SETR D
1, 000nf 29. 37 FEROEE  HMK fEf)
(HEE)

AGVND
1, 000nf 0. 34 REROEE IR SEAE Hh
(FHE)

SETR D
1, 0000t 0.5 HAEXROCEE fEf}
(HEE)

FPEIBT 5
FEROERE  RFEEH
(FHEIE)

T

BIEEICBET 5 150t LA E
I & 2 FELOHEE 5 & 350 ni A<
(FHRE)

FPEICET 5
HET 1 PFEROEE  FHHT 50 i A
(FHEIE)

BIEEICRE T 5 50m Lk
HEERT 1 REROCEE  FHAT 150 nf A i
(FHEE)

FPEICET D
HEPT 2 FAEXRVEE L %5 50 rd A
(F&EIE)

BIEEICRE T 5 50m Lk
HERT 3 %ﬁg@%ﬁ T 150 nf A<

(BEE)

b bt )5 B fig )=




Z# KW R £
THR /LHE, FE5 HAAL % & KA Hm Gl M R
BIEICE T 5 150m 2L E
HREEY FERT 4 WELOEE LT % 350 nf At
(FHE)
BIEIZET 5 350ntLL |
FERT 4 WELOEE LT % 600 ni AT
(FHRE)
BIEEICRE T 5 600niLL |k
FET 4 WEXROCEE LT % 1, 000 o A<
(FHE)
BEICEHT S
LS I 7 HEROEE A & 50 i Al
(FHRE)
BIEEICRET 5 50m Lk
LS I 1 HEROEE £ & 150 nd A7
(FHRE)
BIEEICBET 5 150t LA E
EERT 17 HEROEE £ & 350 nd i
(FHRE)
BEAE
CiCE: 39 (BET) BuniEE
EEFAEEE
LR 1 (FHEE) (REY =N
EERE (BT = 1 763, 298
= 1 R

b bt )5 B fig )=




g A ==
THR /LHE, FE5 HAAL % & #E Mmoo Bl R
= k& A EE
Z Ot 5 A = 4,613,199
Z O AT =y 4,613,199
— A = 7,506, 745
— A = 7,506, 745
SRS = 21, 450, 000

ARt )7 A )=




